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Please read the following instructions carefully.

Frar e FEa v s o

1) Mark carefully your Roll Number and series of the
guestion booklet on the OMR Answer Sheet and sign at
the appropriate place. Write your Roll number on the
question booklet also.

AT FHIF HEAT TA 07 97 F Hfi T 7 dhow g s
ArEUT T Fre a3 s O s geeT #6 ser
FHIE THEAT T AT e g aw oft R

2) Strictly follow the instructions given by the Centre
Supervisor / Room invigilator and those given on the
Question Booklet.

¥z wAAEH/FE A g Ry A er gt w e
et a7 wmrE & qrae 5%

3) Candidates are not allowed to carry any papers, notes,
books, calculators, cellular phones, scanning devices,
pagers etc. to the Examination Hall. Any candidate found
using, or in possession of such unauthorized material,
indulging in copying or impersonation or adopting unfair
means, is liable to be summarily disqualified and may be
subjected to penal action.

AT IO, B9 Tty A wften o # vy £ sty
TE &S swefd w aftefie aegE # swme w0 o
ST AT e 9 & & =i e g, et s amwe woy ar
=4 wqfaE =rEgrt # fm ww sih, ¥ s woe w7 Ry
ST §47 37 9T T0eTens Frard o £ 97 et 2

4) The examination is of objective type. This Question
Beoklet contains a total of 120 questions and total time
allotted is 120 minutes. The subjects for this examination
are General Studies, General Science and Mathematics,
Mental Ability and Basic Knowledge of Computers. 30
Questions from each subject have been asked.

Subjectwise questions are not in sequence.

g W aegtae s wlver &) w6 ww o F 59 120 wr &
A T e o1 120 Formre 7wy Frif Fi wmar 21 oferr
F v ame s, s R v it s
ETHAT TAT FFgL FT e 9 A0 51 7elT (&g & 30 w57 03
LESERCE IS e g v -1

5) The candidates must check that the Question Booklet
has 120 questions with multiple choice answers,. If any
discrepancy is found, immediately report to the Invigilator
for change of Question Booklet.

el et ot 0 o o o e & 120 s &, Rrere ag-
Ffos 3o & | g afy Rl g i 1 et @ Fram

T rerw 1 i ¢ arfn srosr geedy gitae T 8 a9

8) Each objective guestion is followed by four answers.
Your task is to choose the correct answer and mark your
answer on the OMR Answer Sheet and NOT on the
Question Booklet.

qﬁmﬁﬁgw%aﬂmiﬁlmwwﬁw
ATHAT I TF 9T e oy #1 o sww qRaw
TR 7t e

7) Completely darken the CIRCLE so that the alphabet
inside the CIRCLE is not visible. Darken ONLY ONE
CIRCLE for each answer as shown in the example below.
The CORRECT and the WRONG method of darkening the
CIRCLE on the OMR answer shest are given below.

e FF LY aeg Frem w7 ¥ R 3w T 3 siwe #71 s A
T 21 T8 I F B e o A ¥ wven A, A w
g # Frarar w4y #1 @ uw. A% 39 v 0 qiEt f Fer
FA AT T er v B &)

Correct Method / @&t €T Wrong Method/ & afaT

OCO@®O §%§§ %

8) Please mark the right answers and boxes on OMR
Answer sheet ONLY with black ink ball point pen. Filling up
with pencil will not be allowed.

1T A I 9 I q WO A it i e Fe ¥ R
FTAT TV F VT AL FwAw A FF) IR A w0y srgafy
ARl 4t STy )

9) All guestions are compulsory and carry 3 marks each.

There will be NEGATIVE MARKING. 1 mark will be
deducted for each wrong Answer.

vt w7 Al € S s wat ¥ g 3 st § g i
TR ST sreirs wrere s ¥ Ry 1 s Y w2 B s

Instructions continued in the last page

Aot # dfaw gy T war ...
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Code=A

1) Who is the Director of Jharkhand Space Applications
Center (JSAC) as on July 20127

A) Umesh Mondal

B) A.T. Jeyaseelan
C) Najmul Hoda

D) Kasturi Rangan

1}@“‘%2@%%8?@@ arfier auaT #wg (JSAC)
qOTE FA &7

A) T e B) A.T. Sarefie

C) 759 gzt D) FeEdt

2) What is a network that is confined to a college campus
called?

A) Intranet

B) Wide Area Network

C) Campus Area Network
D) Extranet

2) TH Heah &7 ATH T & S HAe wlorer GICAT 7 = T B
27

A) TEEE

C) ¥ i dza4

B) aT%e Ui Azad
D) uFHETE

3) There is a certain relationship between two given words.

Which pair among the given alternatives depicts the same

relation as exists between the given pair. Select the best
alternative

Artist : Paint

A) Chemical : Discovery

B) Mechanic : Car
C) Sculptor : Clay

D) Doctor : Patient

3) fom s = er=at o A= U g "y §1 B o et d 8
FITAT ATET TH TAIT S T 9097 2 A7 20 70 F027 ¥ 9isg
& T Fga Ewer 11

FATHIL : HZ
A) THEIA ; =TS B) T 1T
C) HfdwTe : Rt gt D) st#ex ; wliwr

4) On which principle does the Electric Motor work?

A) Electromagnetic induction

B) Electrolysis

C) Centripetal acceleration

D) Magnetic effect of electric current

4) Rrega A< P Rrgia oo 7t 82

A) Bra=fi oo

B) Farsraermr=s

C) st =

D) farera &mer 1 Jafig wAra

5) Which Santhali play-writer won the Sahitya Academy
award for his/her novel "Rahi Rawan Kana"?

A) Bishwanath Tudu

B) Usha Kiran Khan
C) Bhogla Soren

D) Tilka Manjhi

5) T whaveft e 7 39 IO "Er TE w5
oo anfes st (e @ AT e

A) AT 23
C) sTRTer #7eA

B) FT & &

D) T w=ft

6) You are unable .tt; find thé internet f-i.lé.you saved from
the web browser last evening. In your attempt to search for

the file with the search option, what file extensions will you
search for?

B) ST I FEAT AT AF ATITL H AT TE T2 WIS Ff g2
# s 21 @ T ¥ /T e w7 @i & AT T4 |,

AT ey v e 7 wreet Y g
A) POP B) COM
C) BAT D) HTML

7) Group the given figures into three classes using each
figure only once

7) vl B A7 v A gwa wea gu e re Rt e
it & w7

OGS
A

RIS[Z
(ISP

A)158;34,7;269 B)136;459;278
C)136;257;489 D)6,78:135,;249

8) Star releases enormous amount of energy, what is the
reason behind it?

A) Radioactive disintegration
B) Fission of heavy nuclei
C) Fusion of lighter nuclei
D) Combustion of fossil fuels

8) AT Y=TE HYAT H FAT BiEAT &, THF 9

S HTLT T 57
A)IRamiET Bagea B) ardt anfsre 1 =T
C)ger mifv= #Fr 7w D) sfrarew fee 7 727
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9) Which tribal group uses ‘Ol chiki' script to write in
Jharkhand?

A) Santals

B) Munda
C) Oraon

D) Kurmail

9) ATTET F e s i 2 o & fore ‘e Ry
oIty 7 T i s 22

A) HaTer B) Hz=r

C) 377 D) gwits

10.) .'.Fo s-:end a fax of ycur p-hoté 3.-(01:1 naed

A) Telephone line, printer, Computer.

B) Telephone line, scanner, Computer, modem

C) Modem, Telephone line, Computer.
D) Internet Connection, Printer, Modem

10}m®awmm#mmm%

A) TR Aree, iz, e
B) i wimes, @me, dvqey, Hraw
C) HireH, eefiie wrew, dorex
D) fztiz Fawe, ey, drey

11) A four person crew from Classic Golors is painting Mr,
Field's house. Michael is painting the front of the house.
Ross is in the alley behind the house painting the back.
Jed is painting the window frames on the north side,
Shawn is on the south. If Michael switches places with

Jed and Jed then switches places with Shawn, where is
Shawn?

A) In the alley behind the house

B) On the north side of the house

C) In front of the house

D) On the south side of the house
11)ﬁﬁww%mﬁﬁ1ﬁwwwﬁm%wwﬁz
ﬂqgumw%mﬁmﬁfgﬁﬁhmmésﬁﬂm
F e e ey ﬁgaﬁrtﬁ%m%wﬁzwqr@ EERR o
&mﬁwﬁmﬁ%hﬁ%ﬁm%,mﬁzﬁwﬁmﬁal
uﬁwﬁ?%wmwﬁ?ﬁam%mmaﬁﬁ

sﬂw%wmwwﬂaﬁawg.iﬁmﬁﬁ?qrg?

A) =7 i e arefy & B) w7 7 3¢ e §

C) a¥ |y D) 5% £ aferor Ray &

12) One of the salts dissolved in water that obstructs the
production of lather with soap is

A) Potassium stearate B) Calcium sulphate
C) Sodium chloride D) Magnesium nitrate

12}mﬁwwwq‘rm§?%mmaﬁ%ﬁﬁwﬁ

A) Tty ez B) Ffeoraw athr
C) Hifzaw Fwee D) #eiforaw Freee

13} Silvassa, Is the capital of which of the following Union
territories of India?

A) Andaman and Nicobar Island
B) Lakshadweep

C) Puducherry

D) Dadra and Nagar haveli

13}ﬁﬂwﬁ'ﬁrﬁﬁw%ﬁ#ﬁﬁﬁ'?ﬂﬁﬁﬁﬂﬁ
AT 27

A) FEaT i P gy
B) @iy
C) 1= h

D) =TAZT SiiL AT T3t

14) Whicﬁ of“the foilowing mémory 'unit éan be' accéésed
more rapidly by processor?

A) RAM B) ROM
C) Virtual memory D) Cache memory

14)%&%%&%‘&%%%31“%%@&
& afor o S & 22

A) #IT. U, B) =T & wH
C) a<jarar vt D) Far &9t

15) Find the odd one out.
‘: 5(\]
.

15) e it wgmm 5%
ES
e
PoL PSSR ¢

X
" ol
16) The wavélengih of a.r-'ay of"rigﬁt is 5000 A, What is the

A)a B)b j
frequency in hertz?

16) srmer ot vk For Y - &wd 5000 A° &1 et & Taky
T3fa #4132
A) 541014
C) 8*101

B) 6*1014

D) 10*10%

1.?) In which yeér was the Jhérkhand Area At]tonomous
Council formed comprising of 18 districts of Santhal
Pargana and Chota Nagpur?

17)%wa&ﬂ‘#mww%ﬁ1aﬁﬁﬁaﬁrmﬁ
WW%WWWNWWW

A) 2000 B) 1995 C) 2010 D) 1990
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18) The red wave underline in MS-Word document
indicates

A) Spelling errors
C) Address block

B) Grammar errors
D) Printing errors

18) wHuH-a€ Ttwrie # st ¥ A aver wgw w1 Fer =y
THTaT 87

A) Ffe & gfx B) e

C) V3w =T D) fifem 5

19) Follow the directions given below to answer the
questions. »

10) T 7 T9T T & Py i Ro wro Brsit #77 wre 5%
A, if all 3 items are exactly alike./af wor & %t ¢ aft it

ATETH TFHFAAT &1
B, if only the first and second items are exactly alike /7f%

fords geeft ot gt streew wwme &1

G, if only the first and third items are exactly alike./af firk
TEeT ST At sz v 2

D, if only the second and third items are exactly alike/ @f%
o gt sl frerdt sireew v &)

KVKVKVKVVVVK  KVKVKVKVVVVK KVKKVVVVVVVK
A) A B)B C)C D)D

EO)AhIgh j.u;'lplcoﬁge;tén-t_c-:él.'.l jL.l.;r-\-;;-.t‘é-greater height at
the equator than near any of the poles because

A) Equator has low atmospheric pressure

B) Poles have strong magnetic effect

C) Poles have low temperature and humidity
D) Gravitation at equator is lesser

20)$1ﬁﬁwqmﬁﬂ1ﬁgﬁ%ﬁﬁsﬁrﬁmmw
Af8 AT T AT & A

A) TAETCET T AT Zara 1 g &
B)m‘fnmﬂ'ﬁﬁww@mg
CJgﬁmemmé\?ﬁg
D)mwwwmmwg

21) In which year was the Simon commission presented

with a memorandum for the demand to form a separate
Jharkhand state?

21)%«ﬁ.@wmwﬁm%ﬁqwm%

AT HIEAH FHtore S Py a7
A) 1929 B) 1928
C) 1927 D) 1935

22) The word wrap feature:

A) Automatically moves the text to next line when
necessary

B) Appears at the bottom of the document

C) Allows you to type over text

D) Is the short horizontal line indicating the end of the
document >

22) 7 T oft wr Rrdar &7

A) SAFLTRAT B T T A ST Aree # e e 3

B) =tgdz ¥ frarer R # wae frav 2

C) ¥ AT T 9T T2 T FY qfFeT I

D) 7g = éxfarer Tam & Sit strqiie ¥ o Fr 3ot &

23) If X $ Y means X is the brother of Y: X # Y means X is
the mother of Y; X * Y means X is the daughter of Y in
K#L$M* N, who is the father?

AN B)L
C)M D) Data is inadequate

za)zr&x$waﬁg%vwﬁx€;x#vmwg&
YRAXEX Yaafg ey Hohx &
K#LSM*NH forar s 2

A)N B)L
C)M D) ST sty

24) Which blood vessel supplies oxygenated biood 1o the
walls of the heart?
A) Pulmonary artery

B) Pulmonary vein
C) Caronary artery

D) Superior venacava

24) T #t T ArfRet g £ draret F1 ateheT & o o A
sy Ft 87

A) TFET THAT

B) gg forar
C) g% a9+

D) &= Agrfar
25)'Whét percenia-ge of" the total area is under forest cover
in Jharkhand?

25) AT F7 T ey wfera g aw & % arefier s 27

A) 24.16%

B) 27.16%
C)29.61%

D) 28.17%

26) Which is the fype of e-learn_ing where lessons are
conducted in real-time and carried by an instructor which
allows people to interact with their peers and experts?

A) Synchronous E-learning
B) Asynchronous E-learning
C) Rapid E-learning

D) Real time E-learning
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26) FIAT E-eTf T 7 v e & st A § 0
T ST e g g P s & 571 =it 5 o
TR A et & srreafiar spea wr 2

A) i s B) srf¥iwer Sy

C) ¥z f=ffr D) {ger-arin S-mivr

27) A, B and C can do a piece of work in 20, 30 and 60
days respectively. In how many days can A do the work if
he is assisted by B and C on every third day?

A) 12 days B) 15 days

C) 16 days D) 18 days

27) A, B 3T C faft wref %t wwer: 20, 30 T 60 7 o ¥

g1 af2 B 3% C 77 vt R A Y warmar +3 # 97 A Ty
et # v Jomy F°7 Sm?

A)12ié-ar
C) 16 famr

B) 15 =
D) 18 R

28) Malaria is caused by the pathogen
A) Rabdo viridae
C) Yersinia pestis

B) Plasmodium vivox
D) Entamoeba histolytica

28) wafT fi e & ey ST

A) ==t Rfter B) w=AIRaw argatey
o I i s bl

29) What is the standard rate .6f s;amce tax aSproposed
by the union budget 2012-137

29) ¥ a9 2012-13 F 797 wEArHT 4v 77 7 A9F 2
FATE?

A) 8% B) 10% C)12% D) 12.3%

30) In MS- Excel daté can be arranged in ascendiﬁé_::}
descending order by using

A) Sort command from Table Menu
B) Sort command from Tools Menu
C) Sort command from Data Menu
D) Sort command from Title Menu

30) wHwE - U & Frafofa s v g der s
AT AFLNG! F0 ¥ et F s gy 27

A) Tt 31 ¥ 1t Ferte g

B) 70 A7 % ¢ Fwie gy

C) Ber #7y % 91 Fate g

D) zrgest #77 % HIE 97T grr

31) Find the missing number in the given series/

81) far g Aoft 3 g st = s+
2,9,28,_, 126,217, 344
A) 50 B) 65

C) 70

D) 82

32) The sum of 3a and 4ab is

32) 3a 9T 4ab #7117 &
A) 7ab B) 7a’b
C) 7a°+b D) a(3+4b)

33) Who led the first ever revolt against the landlords and
the British government in the Santhal tribal belt in 17717
A) Tilka Manijhi B) Birsa Munda

C) Jai Mangal Pandey D) Kunwar Singh

33) 1771 ¥ #aver s & & e wfferd s fafr
T ¥ Frwg waw Rdig w1 390 Gy a2

A) fre w7eft B) farcam =1

C) & Hret oie D) g7a< fig

34) What is the Octal equivalent of binary 100007
34) A= 10000 77 sitses RS F47 £7?

A)10

B) 20 C)16 D) 18

35) In a certain coding language, the letters of the English
alphabet are arranged in such a manner that all the vowels
are put in the end and the remaining letters are arranged
from the first letter onwards. The rearranged alphabets are
used to denote the position occupied by letters in the
original alphabets. What is the code of META?

35) Feft Afere gzag st #, oisft avtarem ¥ s oo
T Safead P smar & f avft =wsig o i ad g
T FT ST SR 7 T AT 81 [ ARy B g e &
ST T FOTATEAT 7 et g1r g A g fufy 71 el
FT % for i ST #1 META #7 #rs == grm?

A) TEAM B) PWLV
C) LWPV D) QGYB
36) The biggest number among (3%)°, 3~ , 3 is
A 5 Bl a®
3 ]
3
C) (3%° D) All the three are equal
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g .2
36) (33)°,3° i T W Y T wer i

3

A P B) 52

3

C) (322 D) wreft e mrwTr

37) In which year did the 11th five year plan begin?

37) 1141 = aeffer Fromr i ad # arew g ot

A) 2006 B) 2007

C) 2009 D) 2010

38) Proof of origin, receipt and contents of a message sent
over the internet is the security objective of which of the
following security service?

A) Confidentiality

B) Non-repudiation
C) Access control

D) Message integrity

38) w7 e At i o ey wrer ¥ e wify s
aaﬁqumﬁ%aﬁﬁﬁww'hﬂwﬁw
&7

B) fre-arefteror

A) Trafrrar
C) sif¥mmy g D) =z i ger-fer

39) Dev. Kumar, Nilesh, Ankur and Pintu are standing
facing to the North in a playground such as given below:

39)h.w.wr,Wﬁ%ﬁ%WﬁWﬁmﬁ
A g T @  Far A A R g

1- Kumar is at 40 m to the right of Ankur./ sz ¥ =7 4
40 m Fit o v g

2-Devis at 60 m to the south of Kumar./ FaTe % =fyr drc
60mFr gl i g

3-Nilesh is at a distance of 25 m to the west of Ankur./
dFT F afw ¥ 25 m F1 78t v Ferer &)

4-Pintu is at a distance of 90 m to the North of Dev /= &
I S 90 m A 7fy v firz 2

If a boy starting from Nilesh, met Ankur and then Kumar
and after this he met Dev and then met Pintu and all the
time he walked in a straight line, then how much total
distance did he cover?

w&wmﬁﬁw&wmmwaﬁmamm
mw%mﬁmﬁ&aﬁrﬁr{ﬁg%aﬂ?ﬁmﬁw
?ﬂd‘r“{mﬁmg,a‘}mwﬁﬁﬁqﬁmﬁ%?

A) 215m B) 155m C) 245m D) 185m

40) A boy purchases some chocolates during his birthday.

He distributes 1/4 of that to his family members, 2/3 of that
to his classmates and he eats 5. How many chocolates did
the boy buy?

40) @mﬁvwﬁqwgﬁaaﬁm@ﬁaﬂ%a@m
114WWW%W§,2I3WWWﬁW

%m%aﬁtagmsaﬁﬁzw%_la??ﬁﬁm%ﬁﬁ
Ti=T?

A) 100 B) 80 C) 60 D) 50
41) The Santhal rebellion broke out in 1855 under the
leadership of which two brothers?

A) Sidhu Murmu and Kanhu Murmu

B} Birsa Munda and Komta Munda

C) Lok Nath Mahato and Vinod Bihari Mahto

D) Maki Munda and Gaya Munda.

A1) 5 1855 F =1 avealt ¥ Ao & worer P e vy
a7?

A) Foreg 7 sire g o

B) faa st site #erer ster

C) =1 71 #Edt +itv Rreve st wedr

D) #Tt H=T i arar ey

42) Which of the followmg isa éhortcﬂt](ey for sli(}lé show?
42) Waﬁ%ﬁrﬂ;ﬁ'ﬂﬁﬂﬁ?lﬁﬁiﬁzgﬁﬁfﬂ

A)F5 B)F3 C)F9 D) F8
43) The caﬁdi&atmes for the. post of a. (;iefk m a bank ;r;usf
fulfill the following criteria:

i) Candidate must secure a minimum of 60% in Class X
and Xl exams.

ii) Candidate must have had Economics as a compulsory
subject in Class XII.

iit) Candidate must be less than 25 years of age as on 25
July 2003.

iv) Candidate should pass the physical fitness test as
prescribed in the norms,

1. In case candidate satisfies all other criteria EXCEPT (i),
he is required to pass an aptitude test.

2. In case the candidate satisfies all other criteria EXCEPT
(iii), he shall be interviewed by the Human Resource,

Kamla has passed both class X and XIl in first division.
She passed the physical fitness test of the bank. She will
be 26 years old on December 2003. Economics was one
of her compulsory subjects in class XII. She is:

A) Required to pass the aptitude test for being considered
for the post

B) Interviewed by the Human Resource

C) Denied admission

D) Both A and B
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43) % # fofi= ¥ 02 ¥ fro st 1 Pl s 5
9T FAAT AELAF 2

i) e, Zet s At Fan ) afers F = 60%
ITH FEAT ATF4TF 2

ii) T AT At e & srdomer srfiETE B S iR
iif) arvameff fF sy 25 STE 2003 T 25 A & Fw 0 =Ry

iv) srereft i oy i afe gl FAr Tl s 6
et 7 i B w2

1. 72 vt (i) 3 aremar weft aey o s i wge w
&, ar 2 Ay e sdf s s &

2. af2 sremedt (i) % s wft wer weft wiwde S dge A=
2, TT WIS HHETE GO SHET SRR oy ST

FHAT T THAT AT ATEAT FEw AT v A F Ak A E
I A F1 AT Trar wltem st it 81 fReEw 2003 7
g 26 79 1 &Y siroth g FwEr ¥ aefore swa
At B am 39

A) w97 FRrageht ¥ foro Srvaar wlar s T s
B) AT HHTHA FTT ST AT AT STy

C) wasr ¥ o s F¢ R so

D) A 3% B &4t

44) a'b=3ab / a+b is defined on non' zero fatiéﬁai- o
numbers. * does not become a binary operation if

44) a*b=3ab / a+b T g7 iy wEarar ax AR By s
g1 * u TR dfar adt 2nft afe

A) a=b B) a=b

C) a=3b D) a=-3b

45) Which film/films has been awarded the ' Best feature
Film' in the 59th National film award?

A) Rock star

B) Deool and Byari
C) The Dirty Picture

D) Chiller Party

45) T e | Pl &1 597 wrdier few oo i iy
i e & v § e By a7

A) T =TT
C) = =& fime

B) Baw s =l
D) fereere Tt

46) Which of the following is a term used for an attack in
which an individual inserts unwanted objects, resources or
services into a system?

A) Interception

B) Interruption
C) Modification

D) Fabrication

46) Frmfarfar & & wiwrar srex smor 3 Rry s R smar
& ford i =yfen qumelt  sraifam awpd, damee ar dant
AT 87

A) TETE
C) nifefrrem

B) SETuer

D)

47) There is a certain relationsh'ip between two given
words. Which pair among the given alternatives depicts

the same relation as exists between the given pair. Select
the best alternative

Binding: Book

A) Criminal: Gang

B) Display: Museum
C) Artist: Carpenter

D) Frame: Picture
47) o o 2 oreA % At e T ey 31 B Rt § &

FITHT AET I FATT Herey S ATAT § S 2y 7 v & g
B T A AT o

FrezamtT:
A) FITET- R B) w=ett: dugmm
C) FaTTe: 928 D) ¥ ey

48) If a bulb uses 1500 W in 3 sec, what is the energy
consumed by it?

48) 7z UF T7T 3FF=(sec) H 1500 W T 791 5747 £, 595
g et st i mom fr 9t 22

A) 4500 J/Sec

B) 500 J/Sec
C) 1500 J/Sec

D) 10000 J/Sec

49) In which event did Abhinav Bindra, the 1* Indian, had
won Gold medal in 2008 Beijing Olympic?

A) Shooting B) Weight Lifting
C) Boxing D) Wrestling

49) Aifsir #ArsfPrs 2008 Fir B Sw-af iy # sum
AT 3 =9 & srfea fawer & =t m Sfer?

A) FerETstt B) #TLITET

C) il D) Wﬂ i3k K

50) A host on the internet finds another host by its
A) Postal address
C) Domain address

B) Electronic address
D) IP address

60) $ETHE UL U E16E THL GIEE T AT memmemmemem Fo ZTT
|reaT g

A) TTEeT THT B) =it gar

C) T+ gar D) smEdt qar
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51) Find the odd one out.
51) Rt ag=T i

= =

a . b :
| | B
d
A)a B)b C)c D)d

c
52) A Bullet of mass 100 gm is fired in the upward
direction and it has a velocity of 100 m/sec. What will be
its kinetic energy when it reaches half of its peak height
(half of the maximum height it can reach)?

52) 100 gm w=aT $it v Tedt Fow 7Y fer § gnft st &
4T ST 39 100 misec. ¥ ST a7 sy ey oftd s v
R (S T a4 A7 ST WA AT arfiway gl w5 aram)
aw geeht wider st T geft?

A) 500 J

B) 2504 C)1004J D) 1000 J

53) Which of the following group of languages belong to
the Dravidian family?

A) Korku and Mundari  B) Santhali and Bhumij
C) Oraon and Paharia D) Angika and khortha

53) Frafafea # & v w1 vt &1 aqg 2fe ofEr s
wrafoaa 27 '

A) F1F Sl gl B) waTeft sie sfirer
C) e s wgrfar D) sifia sire wyaf

54) When a mouse is pointed over a certain textinan

HTML page, it turns into ) shape. What is such text

called?
A) Hyperlink B) Mailing link
C) Protocol link D) Reciprocal Links

54) s/ Bl HTML 758 9% %399 913 9 71e9 &1 7@ rar
ﬁ,ﬁw%mﬁwﬁaﬁ?@m%n@mﬁww
STar 87

A) grevfers
C) Trerste

B) #fef o
3 Y hen Ry

55) In following question the number in the square
brackets is related in some way to the numbers on either
side of it. The numbers in each group are related in the
same way. Find the missing number in the last group.

55) e wa § =t v # v 18w s g Rt
At e &Y 78 Hear F gy Gt = 7 G £ vers wyg i
HeTd gty At €1 s aug % o @e 9 w1

(21[7]1 31) (23[11]133) (24 ] 34)

A) 16 B) 13 C) 10 D) 12
56) The atomic number of an element is the number of:
A) Protons

B) Neutrons

C) Protons and Neutrons

D) Protons, Electrons and Neutrons

56) At o frowmmder. frHen )

A) Tt B) 7zt

C) Tt T =i D) wTei™, Toi=, T ==

57) Which of the following is the sub-capital of Jharkhand?

A) Jamshedpur B) Dumka

C) Dhanbad D) Bokaro

57) Frafafes § & i =1 v Az i 3w §2
A) THIET B) o

C) ymaT= D) Fr=Tr

58) Which one of the following is an example of a Web
Browser?

A) Opera B) StarWorks

C) GoogleApps D) Odilla

58) fw # & Far 3= srawe % oy v I 87
A) #r B) mrEw

C) Treras D) #rfeer

59) In the following question, four figures are given, that
follow a certain sequence or pattern. Find the next figure in
the sequence from the answer choices provided below.

59) = R wr F =re st € w8 &, S vw R
a7 g # &) Fi5 e o awe Rt § & s ww A gy
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Code - A

60) Which type of microbe is Mushroom?

A) Extremophile B) Fungi

C) Protista D) Eukaryote
60) FFTLTT FFe 7L 71 Ty £7

A) THFIEHETRTEA B) #a%

C) arersfi D) "EaFefr

61) Group the glven -fi-éufés inté)“tF\"ré; classes using as;c-r;“

figure only once

61) yeir =y 71 U 91 3ug o g R o Rt g de
T A Ay AW

i
ZIXMT
VAR

A)123,456;789 B)1,35;246:789
C)159;362;478 D)197:285;346

62) Wﬁat Is-tﬁe value of sdu_ara root of 121 Db?

62) 12100 3 TTHa 7 AT 74T ZAIT?

A) 110 B) 120 D) 100

C) 90

63) .If_yoﬁ are -c.hecking m-a-ils usmg a-browser, then your
browser is the:

A) Server, because it shows data stored in the server

B) Client, because it requests data from the server

C) DBMS, because it queries the backend for your data
D) RDBMS, because it requires the data from the server

63) fe a7 Rt aTas 7 wd 19 gu A A g E A4y
ATTHT AT &

A) 7, FifF 77 AT o7 e v 2o 9 Ramar i
B) FEe, R wdT & Fer o iy v 2

C) DBMS, 1T 7 s 327 % forg Jvi st #2ar 2
D) RDBMS, #itf¥ wi wdv & Zer i sy St 2

64) In which yéar did the decimal series of the Indian
rupee came into force by dividing the one rupee into 100
paisa?

64) e = ® ws 9T 71 100 §67 § Fizwe a5y v
I AV § AR T e

A) 1955
C) 1957

B) 1956
D) 1958

65) Introducing Mohit to his friend, David said, *He is the
only son of the only daughter of his mother."

How Mohit is related to David?

A) Nephew

B) Niece
C) Son

D) Brother

65) #ifed #1 wfrag o e & w0 gu 2 & wmrag
AT T AT Ooft A )

HifEe 1 39 2fFe ¥ Ay w4 a7y £7

A) st B) wisft C)¥=r
66) Set A = (3, 4, 6} Set B = {5, 8, 9) Set C = (2, 9, 7) then,
AU (BNC) = ?

66) Set A = (3, 4, 6} Set B = (5, 8,9} Set C = {2, 9, 7} 77
AU (BNC) = 7

A){3.4,6, 9}

B) {5, 5, 6, 9}
C){3,4,8 3

D) {8, 2,5, 9}

67) The desktop icons have been customized by the
previous user. How do you set the default icon images?

A) Restart the system

B) Select the Effects tab of the display properties and
choose the default icon of the desktop icon option.

C) Right click on every icon and select the default icon
option.

D) Delete the icons

67) et wetear arer Sehai s St e BT T am)
o fRtes dtgw gt @1 & f2 w607

A) JOTTHT FT TAATET Ff

B) fear wivdlsr 3 wiee 39 o1 597 ¢ s TeelT st
e ¥ fwies stasm 1 971

C) wei & 7% aTaT 3 #:¢ o ier st Brasr o7
AT FE

D) si== &7 ger

68) Which of the following sports personalities is
associated with the Indian Hockey team from Jharkhand
winning the commonwealth Games 20107

A) Kirandeep Kaur
C) Subhadra Pradhan

B) Ashunta Lakra
D) Poonam Rani

68) FTEE & Wity g i T gefie Peffa 54 e
fermmet & TrgwEw e 2010 # sfi grfie £ 72

A) Frordi i B) ag[aT wTT

C) THaT ToT7 D) I7H AT

69) If Simple interest on Rs. 200 for 2 years is Rs. 40 then
what is the compound Interest on Rs. 400 at same rate of
interest for 2 years?
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Code-A |

69) 7% Rs.200 F1 2 af T "rerTeer 3477 Rs.40 g @ Rs.400
T Y T 9T 2 9 7 wwgfE s 4T e

A) Rs.84 D) Rs.124

70)(AUB)UC =AU (B U C) is based on which law?

A) Commutative law
C) Associative law

B) Rs.80

C) Rs.120

B) Distributive law
D) Disjoint law

?0)(AUB)UC=AU(BUC)ﬁFHﬁ!N‘RHTmﬁHE?

A) ety fe B) Fz7 fagw
C) arg=d ffaw D) g fgw

71) Which of the foliowing is an output device?
A) Scanner " B)Keyboard
C) Mouse D) Plotter

71)&:;&%%’1?111%23;%3?
A) FT B) F=E C) ATeH D) wTET

72) "Jado Patiya', the art of painting, is the speciality of-

A) Santhal B) Birhor
C) Munda D) Asur

72) R £t e " afear, el Rrdra &2
B) g

73) C:J;blé_tgﬁme given séries
78) g 1 aoft 9 @y
3,3,6,18,72, _

A) 280 B) 180

A) FuTe D) arge

C) 360
74) Which of the following statement is true for
DETERMINANTS?

A) Number of rows and columns should be different
B) The determinant always gives a negative value
C) The determinant always gives a positive value
D) Number of rows and columns should be same

74)%&?@%%%1}%#111%@3?

A}Wwﬂaﬁﬁmﬁw@ﬂ’rwﬁq
B) Rutew wiw shrren wrer 2
C)ﬁmmmmma
D)ﬁﬁ’wﬂmﬁaﬁﬁﬁwm@vﬁmﬁq

75) Wh;c?am;g_the following is the most rece_mly used
high-density optical storage drive?

75) Pt % & 2 ot grer  F v 3w v o s
T gred §7

A) T B) w=- it

C) st D) #it-ameery

76)Whlch étatelsthe Ieadlng p}bdﬁcef .of Manganese iﬁ .
India?

A) Orissa

B) Jharkhand
C) Tamil Nadu

D) Rajasthan

76)%&#31?@%%%%@%?
A) FEtar B) 5=

C) affer wirg D) TrsreaTT

77) Ifin a certain language, WIRELESS is written as
ERIWSSEL, then how is the NOTEBOOK coded in that
language.

77) foreft v § WIRELESS %1 ERIWSSEL ¥ =1 F frg
mg,ﬁwwﬁNOTEBOOKﬁ%&mW
SHTT?

A) ETOKNOOB

B) ETONKOBO
C) ETONKOOB

D) ETNOKOOB

78) For any 2 given points A and B on the circumference
of a circle, if the angle subtended by A and B at the centre
is X, What will be the value subtended by A and B at any
point on the arc?

?B)wﬁﬁq&mwﬁqwﬁwﬁzﬁ?ﬁAamB%ﬁq
nﬁAWBm%&WﬁaﬁﬁﬁwxaAmew%
Freft i e stafica - wr 791 2o

A) 3X

B) 2X C) X D) X/2

79) Which of the following is a software used for delivering,
tracking and managing training and education over the
Internet and offer features for online collaboration?

A) Learning Management System

B) AlCC

C) Sharable Content Object Reference Model

D) Distance Education Council
79)ﬁ'ﬁﬁﬁrﬁﬁ'm?{mﬁmg, S 39T = 0w
wRreT S fover smr Y, 5 b Ay ST 39 Yo ¥ oo
ﬁmw%aﬁﬁﬁaﬁﬁmmﬁvﬁ%?mmwﬁ?

A) =T BT fe

A) CD-ROM B) HD-DVD

C) Blu-Ray D) CD-BW B) . &g Hft At
C) Iaw w7z srase ¥ wiee
D) et g =iy
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Code- A

80) Which among the following district is covered with
most forest area?

A) Gumla

B) Chatra
C) Hazaribagh

D) Koderma
80) fRmferfer & & i ar Rrem sfwieora: o & & sy 87

A) AT
C) gardtamT

B) ST
D) FTsCAT

3_1 ')nln the folluw.ing qué;tion seiec_:t the alt;;native that
exhibits a similar relationship as shown by the question

pair.
Tired : Sleep

A) Unemployment : Job  B) Build : House
C) Paint : Painting D) Read : Leamn

81)Fraferfera s # &% ey a1 waw % 9t vy g g

feaTy s g dee wafi
T ga : i
A) TR : A B) fmiwr : =u¢
C) fz : tfdar

D) 9gAT : Hrmar

82) Solve the following equation
82) Fafafa o St ga w¢
15/2 x (3/2 - 15/7) + 10

A) 145/28

B) 140/13 C) 139/18 D) 131/13

83) At which of the following places the new slides can be
inserted?

|. Between two slides

II. At the end
A) Only | B) Only 1l
C) Both | and I D) Neither I nor Il

83) Faferfea e v o a0 e 1 2 Ry o7 w0y
&

1. 3Y e F iy

I, s %

A) Fa | B) F& Il

C) | &z Il S1 D) szl

M}When&bd tﬁ-;a state of Jharkhand' come into exislencew

as a separate state?

84) mirwE T i B & ww arenr o w0 F st
HAT?

A) 16 7997 2002
C) 15 w&aT 2000

B) 15 7=9< 2001
D) 15 794 2003

85) Looking at the picture of lady, Ashok said to Vijay that,
"She is the mother of the only brother of your father.” How
is that lady related to Vijay?

A) Mother

B) Aunt
C) Grand-mother

D) Mother-in-law
85)%%%ﬁaﬁ1mmﬁmﬁﬁm#wﬁﬁg
T T & wawr e i | &1 frow #v o wfgen ¥ amr
T ATET £7
A) =f

B) ==t C) =<t

86) Which is the nearest number to 99547 that is exacay
divisible by 6877

D) &

86) 99547 Fit wardt Reeaw dear 1 &, ¥ 687 & H-diw
frameT &7

A) 98928 B) 98929

C) 98930 D) 98827

87) Interet explorer stores a copy of every web page it
displays on your computer hard disk in a-------e---f folder in
the windows folder.

A) URL cache B) Temporary internet files

C) URL repository D) Internet explorer

87) etz AT AT Feogee g€ e waii 9 arer

EEREEIRE S R HieET § W ST 37
A) URL ar B) erairf feeie wreew
C) URL frdferefr D) F2tAe TFasiaT

5_8} How many mambers“of parliament arlgwthera fron; the
state of Jharkhand?

88) e Ty & e we F A £7

A) 14 B)6 C) 20 D) 81

89)The number in the squa_fé-lérackets is related in some
way to the numbers on either side of it. The numbers in

each group are related in the same way. Find the missing
number in the last group.

89) T Frewt ¥ wiop srwa A} dire it wreaTsh ¥ g Awt
e &1 el wag A st wdt e waw wEdt §) s

HYE # srafea wear sa w1
A) 15th November 2002
B) 15th November 2001 (6[48) (2[915) (4] 19)
C) 156th November 2000
D) 15th November 2003 A) 25 B) 16 C) 38 D) 64
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90) What is the rate of change of velocity?

A) Speed B) Acceleration
C) Force D) Energy

90) 3 & wfadq i s 272

A) T B) wfya@s
C)as D) =t

91) Who designed the first electronic computer-ENIAG?

A) Van Nuemann

B) Joseph Jacquard

C) Presper Eckert & John Mauchly
D) Denis Ritchie

91) e wEe SR ifT FrorET ~ENIAC ' &9 412
A) 37 =i

B) SiH&T Sre

C) UE9T UL & Wi Hyerer

D) o fifes

92) Which of the following is the highest local body for the

rural local self Government?

A) Gram sabha

B) Gram Panchayat
C) Zila Parishad

D) Block Panchayat

92) Tt FaT F=-garaa F fro fafifes § & #=ay
TYAH T T 22

A) T AT
C) forar uftgz

B) a1 d=TIe
D) =t d=TaT

93) The budget for a new social service program is

, Rs.10,00,000. The project has secured Rs. 49,500 worth
of transportation services and Rs. 50,000 worth of office
equipment in kind contributions . What percent of the
budget has been secured in kind?

93) T 7 HTHTE FaT T % o awe & %.10,00,0001

afErsT 1 9ftags favEt F fr 5.49,500 &l FETTETIf
AT F = § Fraiera saweit ¥ e %.50,000. 17 gam
sz 1 e sfiverT syt et & s ger 27

A) 0.5% B) 5% C) 0.25%

D) 2.5%
94)-In the peri'odic tat':lé' which of-the follou'\..r;g elel;lg;'-{is
- least reactive?

A) Sodium

B) Zinc
C) Copper

D) Lead

94) =7 s wrooft & e & & #5907 A w9
wiaferarsfi= &2

A) wifEay B) wreaT C) mram D) a7

95) What is static IP address?

A) Static IP Address is random signal IP Address

B) Static IP Address is a space-time in which the geometry
does not change

C) A permanent IP address assigned is called static IP
address

D) Static IP Address is a permanent IP Address assigned
by the manufacturer.

95) wefew amddt (IP) wEw T 27

A) &2fe sredt (IP) vgw uw sfvafia e srdd (IP) w3
g

B) =fe it (IP) ugw 7= wire-www & Rrerdf sarfafy & 8
afvadT 7 grar &

C) Atz fi u wareft ardeft (1P) wwr #r 2few srdeft (1P)
TSH FEgT AT

D) &= st (IP) vl Rfrtar gy A B mar
Tt sy (IP) wEE &)

96) What is the total number of Villages in Jharkhand?
96) HTEE # it it g wwar et £2

A) 23620

B) 32620
C) 22620

D) 43262
97)Findthe odd one out.
97) s it wg=T F1

Aa B)b C)c D) d

98) Which one of the following turns Red litmus to blue
litmus?
A) Acid

B) Base
C) Oxide

D) Sulphide

98) e & Far wirer Rremr 7 A frewe # wRafia w
e
A) s

C) #fergres

B) #e
D) #eFree

99) What is default port number for the HTTP server?
99) HTTP w4t ¥ forg Rrwiez O1E daz w27

A) 67 B) 80 C)23 D) 22

Page 12 of 16



Code - A

100) At which place was the Central Fuel Research

Institute, one of the major research institutes established in
the year 19457

A) Dhanbad B) Bokaro

C) Ranchi D) Hazaribagh

100) %ﬁﬁ'ﬂ%ﬁ#?ﬁumaﬁmsﬁﬂmﬁﬁ@g
ﬁwmaﬂms&'ﬁwwrﬂgﬁﬁ?

A) gaTs B) ST

C) ==t D) geTirEmT

101) In the following letter series, some of the letters are
missing which are given in that order as one of the
alternatives below it. Choose the correct alternative,

101)mmmﬁﬁ,ﬁwmgm
ﬂ@wﬁ%ﬁqwﬁwﬁ&#ﬁwgmﬁﬁmwm
|

o N TR SR T
A) decee B) deced
C) decdd D) dedcd

102) What type of spectrum is produced by a flament
lamp?

A) Line emission

B) Absorption
C) Continuous emission

D) Discontinuous emission
102) q%ﬁﬁﬁﬂrﬁzéwmﬁmwﬁﬁﬁwh@?ﬁg?

A) YT I B) rareiraor
C) 5o It D) s¥ad TeeT

103) Which o&i;; is correct to enter the charts in ms excel

A) Formulas>>charts  B) Datas>charts

C) Insert menusscharts D) Views>charts

103) TH T TR # =1 T ¥ R w1 Ay e 7t 22
A) SHFTE>>RE  B) s i

C) 5w a>> sred D) =1>> =mes

104) Based on whose life was the historical novel “Aranyer
Adhikar” (Right to forest, 1977) written by Mahasweta

Devi, which won the Sahitya Akademi Award for Bengali in
19797

A) Veer Budhu Bhagat B) Birsa Munda
C) Telenga Kharia D) Tilka Manjhi

104)1979&@%31%@?%?91‘%@@@&3{@1%
T TR ST arode Sl (shrer a1 s

1977) e oftaw uz smenfi 22
A) FT Y T B) farar g=r
C) e =y D) == A=t

105) Complete the given series

105) T &oft 7 ey
5,13,25 41,81, 7

A) 85 B) 81 C) 90 D) 95

108) Which among the following organs is made upof
cardiac muscles?

A) Heart B) Lungs

C) Kidneys D) Liver

108) ﬁ‘ﬂﬁﬁﬁﬁmmmgﬁsﬁ%m@mﬁ?

A) gz B) %2 C)am D) 7Fw

107) What is the term given to the notion that any network
can be secured as long as nobody outside its
management group is allowed to find out anything about
its operational details and users are provided information
on and need-to-know basis?

A) Trust based security
B) Security through Obscurity
C) Need based security
D) Security through password

107) 5 arsx # #41 F7r wrav 8, Py AT A o ok
9 7% qefer g &, o o 96 v g & ae A
#t =113 At o duren Rt £ A o e amw wo
F agafd 7t @l sie swiTEtE A s &
HTETT T SITHTLT 92T it oireft 7

A) R s e (zee dee Rrrafedh)

B) sreea grar qea (Rrrafidt g sitsmrgfidt)

C) srezan smenfia qea (fie 3w i)

D) v gy e (Rrgfidt of )

108) Who was the key left handed batsman from
Jharkhand, won the under 19 Cricket world Cup in

Malaysia in the year 2008, is also now playing for Royal
Challengers Bangalore?

A) Saurabh Tiwary

B) Varun Aaron
C) Cheteswar Pujara

D) Virat Kohli

108) FTTEE =7 AT 214+ Y A= 1 o7 oy
n%fﬁwﬁﬁgﬂsﬁﬁrﬂve‘mzoosﬁﬁm.mﬁﬁag

Trarer et T ¥ P e < 22
A) grow e B) =& a1
C)Qﬂ”&r{m D)ﬁ‘tr{ﬁg?ﬁ
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109) In a certain code Ianguagh CARPET is written as
DCUTJZ, then how is DIARY written in that language?

109) uF fdry 5= wrar &, CARPET #Y DCUTJZ ¥ =7 #
ng,ﬁrmwﬂ‘ommﬁﬁwmﬁmmﬂ

A) EJDVD B) EKDVD
C) EKDWD D) EKDVC
¥ 32
110) Let f(x) =x*—4x~5,4=|2 | 2/, find the value
oI |
of f(4) ?
-
110) 7T B f(x)=x2—~4x—5.)4= 2 1 2| F(4) T
2 vl
T AT 1?7
A)0 B)I C)al D) -l

111) What does-iﬁe *com " m the URL: ww@v.abcd.com
indicate?

A) Commercial B) Corporate

C) Co-operative D) Conceal

111) URL: www.abcd.com # *.com " T gf¥ra #<a1 £7
A) FafE B) #idTe

C) F-sifqfea D) Fier

112) In which district of Jharkhand is the Reserve Forest
for Tiger situated ?

A) Hazaribagh B) Palamu

C) Ranchi D) Gumila

112) A= ¥ fr R & amet ¥ Fre s o= fae &2
A) gerdETT B) weTy

C) i+t D) T

113) After moving 7 km south of her office, Sehar realized
that she is moving in wrong direction. So she turned right
and moved another 7 km and turned left and moved
further 5 km and reached her house. How far is the house

of Sehar (approximately) from her office and in which
direction?

A) 12 km in South East Direction
B) 14 km in South West Direction
C) 12 km in South West Direction
D) 14 km in South East Direction

113) o Fraters & 7 km 2fro 6t i = aw, fmoar
T 3 A arere o & wrer oY & g g A g fe
7 km ST & 4T 3% 919 q70 qEAt & @7 B 5 km e
T TES ATl &1 A7 F Fratery F wv ey g (e Bt 2
3T T fRem 3 87

A) afdor-g fae F 12 km
B) aférr-afary fRem i 14 km
C) af¥mr-afr far # 12 km
D) =g far if 14 km

b bt
114) Let 32107125 ooniee  then
57767
114) AT R 370107125 —goyhse AT
5.16-5
A) a=0, b=1, c=5
B) a=1, b=0, c=5
C) a=0, b=0, c=5
D) a=5, b=0, ¢=5
115) While on the desktop in Windows, What does
pressing F5 do?
A) Refreshes the screen
B) Opens help menu

C) Does Nothing
D) Opens Search

115) Windows % E&F2iT 9T, F5 I g3 & 77 2rar 27

A) =t 7 Foper wwar &
B) e & gerar &

C) & Tl Fear &
D) &rer Y e 34T &

“Mica Capital Of India"?

A) Koderma
B) Dumka
C) Ramgarh
D) Sahibganj

116) wrTeEs F o Ry it s fr v oo B A
STAT STaT 87

A) Fr=eaT

B) g

C) =

D) wfRe i
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117) An organization has kept the selection criteria as
taking atleast 80% marks in written test conducted by the
organization. A candidate must be graduate with 70%
marks with age of not more than 24 years on 1% August
2012 and not less than 20 years. He must have done Hindi
as one of the subjects in matriculation else his/her case
will be referred to the director of the organization if he/she
had scored 80% in matriculation without Hindi. Also the
case is referred to CEO if the marks in written test are less
than 80% but more than 75%. Reema is a graduate with
72% marks in graduation and was bom on 4™ August
1987. She has completed the matriculation with 90%
marks without Hindi and had scored 90% marks in the
written test. What will you do with Reema as per the
situation given (the case is given as on 1 Aug 2012)?

A) Select Reema

B) Reject Reema

C) Refer Reema to the Director of the organization
D) Refer Reema to CEO of the organization

117) O ®ET F 4 T A I g o v Rl s §
FH A F 80% AT AT g a7 Frwr &1 v arvaref Y 70% st
F T AT ST AR T9T 31 1 T 2012 7 24 76 F
mﬁﬁﬁrzoﬁ#waﬁ@ﬁ?@mmw%
ﬁwﬁﬁwﬁw%ﬁ@ﬁm%qwaﬁeﬂﬁﬁ:ﬁm
& e Rt % 80% i st & o o v 7 e ¥ rderw
T & R st A & af Rrfre st § 80% & a
sﬁws%ﬂ&ﬁiﬁ%ﬁﬁﬁﬁrmmﬁraﬁcmﬁﬁaﬁw
AT FHT 72% St ¥ wr Averw & s 9T T 4 ey
198?ﬁ§w%1wﬁﬁm%aﬁ%90%atﬁ%mﬂ‘iﬁﬁ?m
ot P & i il st % ey 90% &% 9w fo &) &
qﬂf&rﬁﬁm%%mwﬁﬂm1wzo1zﬁ
Fagr mar )7

A) T9T 17 =97 T

B) 9T T 59 wdt w4

C) Ea1 it 597 T Frderss 3 qrer 33t
D) 9T %7 #97& F CEO & ey St

118) If point P(x, y) is equidistant from the points
A (a+b, b-a) and B (a-b, a+b) , then

A) ax=hy
Q) & -y =2(ax+by)

B) bx =ay
D) P can be any point

118) 7 iy P(x, y) Big A (a+b, b-a) w5 B (a-b, a+b) &
TAGCE §, T

A) ax = by B) bx = ay

D) P g +ff g &t w81
119) The file system resides permanently on
storage.

C) ' —y*= 2(ax+by)

A) Primary

B) Secondary
C) Device

D) Direct memory

119) wrger ey eqmef} 7 F oo g F T 3
A) wreet B) #¥=dt
C) frarw D) ST AWy

120) Which Indian cricketer has been awarded an

honorary doctorate degree by De Montfort University of
United Kingdom?

A) Sachin Tendulkar B) Sunil Gavaskar
C) M S Dhoni D) Sourav Ganguly

120) e sreefra e it gmede Rimrew & wteemys
ﬁwﬁmwmﬁﬁzﬁmmﬁﬂ‘qﬁﬂﬁmw

A) B9 Frgere B) gfer wrarere
C) wa wa gt D) #ew it
ég _ ... ac : e for Rough work o
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10) In view of the limited time span, do not waste your time
on a question which you find to be difficult. Go on solving
questions one by one and come back to the difficult
questions at the end.

Hifa T =y # e # e gu, Bl T v 9w s
qAT AATE AT FE AT AT FA 0T 2194 A 0F K UF
T g Fd AT S FE et 0w st F Aver awd)

11) Answer Sheets will be processed by electronic means.
Hence, invalidation of the Answer Sheet due to its
folding/wrinkling or putting of stray marks on it or due to
any other damage to it as well as incomplete / incorrect
filing of the answer sheet, will be the sole responsibility of
the Candidate. Rough work MUST NOT be done on the
OMR answer sheet. Use your question booklet for rough
work.

AT I Y i gerweifw wrew & s swhh,
INC-TA T qE/ReaE a2 av Ieaw i e e gegar
Fft o= wame & oo arfies B ofte |y & 2| e ar
aqof BN ¥ wrer wHE Foew g1 o f Rredardr srerdt £t
FrfT T T ST T 9T AE AT | T e

fore eror ey e &7 & T

12) The OMR answer sheet will have to be surrendered to
the invigilator after the examination. Candidates are
allowed to carry Question Booklet from the examination
hall after the examination.

et F AT LU A 39T o frarw 17 w7 T oare T A
TEET FATH 0 ¥ SR Wi O T F A 7 o ¥ B
Afd &
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